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Answer all Five Questions.

i) ufg gl & SN ©

8x5=40

7. Draw pin-diagram of 8255 chip and explain its
each pin.

8255 i @& fU—3R™ = Rga 3} g9
Ud® U &) e o |

OR (3121a1)
Explain different addressing modes of 8085 puP?

8085 P @ fafir=1 TIRIT A &1 aa™=aT W |

8. Draw and explain timing diagram for memory read

cycle.
8

AN s 99 & <rsfHT su™m o Rad
3R ATAT BN |

OR(3721dT)

How is 8086 uP different form 8085 uP ? Explain.

0T5028 21501

2019(0dd)

Time : 3Hrs. Sem. V - EC/ICE/ECE
Micro. & Applications
Full Marks : 80

Pass Marks : 26

Old Syllabus

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol & SR <, TAS U &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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8085 uP & fa=ferRaa fder &1 fHas qrse
P ATITIHAT 87

(i) RLC

(i) LHLD 2552 H

(iii) MVI M, OCH

(iv) MOV B, C

OR (3121a1)

What is the purpose of ALE and READY signals
in 8085 uP ?

8085 uP# ALE 3R READY Riv<iat & @m
g 87

What do you mean by program counter and stack
pointer?

TIITH B8 AR WP Wigex A AT T

ST 27?7
OR (3121a1)

What do you mean by machine language?

0T5028

(i)

(1ii)

(iii)

(iv)

3 21501

Ifd ALE=02 d9 STel —a13 Ad, -Ad,

(3) 1% 9I¥T wWH
@) #9909 Ut srer

(&) < d13€ UgW
(@) 39 9 DI L

Control signal for op-code fetch cycle is......
() IO/M=0,S,=0,S, =1
b)) IOM=0,S,=1,5, =1
() IOM=1,8,=0,S,=0
(dIOM=0,S,=1,S,=0

IU—dls Bd dh P felv dold R

@) I0OM=0,S,=0,S, =1
@ 10M=0,5,=1,8,=1
@ I0OM=1,S,=0S,=0
(10M=0,S,=1,S,=0

In 8085 pP, “TRAP” interrupt is connected

(a) PIN -7

(b) PIN - 6
(c) PIN - 40
(d) PIN -10

P.T.O
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xx) 8086 uP®, frfafaa & @ &9 dgia
Tl B—
(31) ORI Wl T
OEIEERGH
(A) 2 Tl
(@) A AT

GROUPB

Answer all Five Questions.

Il uig gl & SR o

2.

4x5=20

What do you mean by hardware interrupts used in
8085 uP?

8085 UP H YYId BISAAX ¢ U 3(TY T
A 27

0T5028

(vi)

(vii)

(vii)

(viii)

5 21501

fa=rferRaa & & @91 16—fae &1
Ioreer 8-

(31) UTUTH BrSeR

(@) ¥ @z

(W) TR

(?) @) 3 (9) <r=i

Which of the following instruction is
example of direct addressing.

(a) LDA

(b) SHLD

(c) LHLD

(d) All of the above

fr=faRaa & 9 sia—ar fAde sIRae
vs AT &1 Sarever 28—

(31) LDA

(@) SHLD

(d) LHLD

(%) Suxrqa g+

Which of the following instruction is of
three byte:

(a) ADDM

(b) STAF25AH

(c) CMA

(d) MOVA, M

P.T.O
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(xvi)

(xvii)

(xvii)

(xviii)

10 0T5028

8251 faIg &1 9T R
STl SBR & forg fear Siar 2
(an) Rispia

(@) CRismrTa

(@) Rimi= AR i

(@) 37 9 BIg &

Which of the following is part of successive
approximation A/D convertor.

(a) Comperator

(b) D/A convertor

(c) Integrator

(d) Both (a) and (b)

ffaRaa # 9 &9 g R —
TRIFHHIE A/D a4 BT AT 28—
(31) PR

(d) D/A®aR

(W) sfeder

(?) (@) MR @)=r=r

Which of the following is hardware interrupt
in 8085 uP.

(a) TRAP

(b)RST 1

(¢) RST7.5

(d) Both (a) and (c)

0T5028

(x)

(xi)

(xi)

(xii)

(31) 8192
(9) 16384
(|) 4096
() 2048

Which of the following statement is correct

for memory mapping.

(a) It is used for small systems

(b) It is used for large systems

(c) In this mapping, only 256 ports can be
interfaced.

(d) None of these

A9 AT & fog Fre=falRaa 9 4

HIT—T HAT & 2 |

(31) su®T YT Bic Ried & foy
fopan Sirar 2 |

(@) &1 9T 98 Rived @ forv

SITar @

(W) 39 AR o, ®ad 256 Ui @l
SNy fHar &1 godr 2 |

(?) 379 A BIg T8

Which of the following is data transfer
instruction:

(a) MOV B, C

(b) MVIM, C

(c) LDA 38FAH

(d) All of the above
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10.

8086 P, 8085 uP | © 3TelT 87 ATET HN |

Write a program to find 2°S complement of A2 H
and store the result in memory location 502E H.
8

A2 H®T 2°S dHeliiT 9d &3 & foIv s
NU™ &l ford 3R aRvm &1 99N Ao
502EH ¥ wdfaa &% |

OR (3121a1)

Draw flow chart for addition of two hexadecimal
number A5 and F9.

<l eraresfiud IR A5 SR F9& AT &
fore garg ard Rad |

Explain 555 Timer with the help of its block-diagram.

8
YUS —IIRY HI GE—Idl ° 555 CISHX $I
GRAT BN |
OR(37214)

Draw block-diagram of counter type A/D convertor
and explain its working principle.

P.T.O
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8086 P, 8085 uP | ©¥ 3Tl T 87 ATET BN |

Write a program to find 2°S complement of A2 H

and store the result in memory location 502E H.
8

A2 H®T 2’S dHefific od &+ & foiv &
N &l ford 3R aRvm &1 99N eI
502EH ¥ wdfad &% |

OR (3121a1)

Draw flow chart for addition of two hexadecimal
number A5 and F9.

<l eraresfiua dware A5 SR F9& AT &
fore garg ard Rad |

. Explain 555 Timer with the help of its block-diagram.

8
YUS —IIRW ®I GEIdl ° 555 CISHX PI
GRAT BN |
OR(37214)

Draw block-diagram of counter type A/D convertor
and explain its working principle.

P.T.O
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